93 Prove (Ax: Px)=(Vx Rx= Q0 x))A(@Ax Px Vv Q x)A(Vx Qx=Px)= (Vx* Rx= PXx)

After trying the question, scroll down to the solution.
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(Ax Px)=(VxRx=0x)A@Ax Pxv QOx)An(Vx Qx= Px) idempotence
(Ax Px)=Vx Rx=Q0x)A@Ax Pxv Qx)A(Vx Qx=Px)A(Vx Qx= PXx)

distribution

(@x Px)=>Vx Rx=Q0x)A@Ax (Pxv Qx)A(Vx Qx= P x))A(Vx Qx= Px)

specialization

(@Ax Px)=»Vx Rx=0x)A@Ax PxvOx)A(Qx=Px) A (Vx Qx= Px)

use implication Q x = P x to weaken Q x , then drop implication

(A Px)=(VxRx=0Q0x)A@Ax PxvPx)Aan(Vx Qx= Px) idempotence

(@AxPx)=VxRx=0x)A@x Px)A(Vx Qx= Px) modus ponens
VxRx=0x)A(Vx Qx=PXx) splitting
Vx(Rx=Qx)A(Qx= Px) transitivity

Vx Rx=Px



